LetsPlayMaths.com

Length -5

1. The length of a square field is 1240 m. John ran 3 rounds around the field. What is the total distance
ran by John?

a) 3km720m b) 3km620m
c) 4km 720 m d) None of these

2. Bob runs 6 km 250 m in the morning and 5 km 575 m in the evening. How much distance he will cover
in a month?

Consider 1 month = 30 days

a) 294 km 570 m b) 294 km 750 m

c) 354 km 750 m d) 249 km 750 m

3. Asquare play ground’s one side length is 250 m 75 cm. what is the total perimeter of 4 such grounds.
a) 3270 m 20 cm b) 3720m 20 cm

c) 2307 m 20 cm d) 4012 m

4. Everyday Ryan runz km, walk % km and cycle 2 g km. What is the total distance he covered every
day?

a) 3 km 600 m b) 3 km 700 m

c) 3km 800 m d) None of these

5. Divide 72 km 72 m by 9.

a) 8 km 800 m b) 8 km 80 m

c) 8km8m d) 80km8m

6. Bob is living 45 km 575 m away from his college. Every day he walks 3 km 640 m to the nearest
railway station and travel 32 km in train. Rest distance he covered by bus. How much distance did he
cover by bus?

a) 9km35m b) 9km953 m

c) 9km935m d) None of these

7. Viona travelled 246 km 750 m in 7 days to her office. How much distance did she travel in each day?
a) 35km 250 m b) 35km 520 m

c) 53 km 250 m d) None of these
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8. Divide 804 m 24 cm by 6.

a) 134 m40cm
c) 143 m 04 cm
9. Divide 72 km 5 m by 5.
a) 14 km 410 m

c) 14 km 104 m

10. Possible length of a pencil is

a) 16 cm

c) 16 mm
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134 m 04 cm

None of these

14 km 401 m

None of these

5m

None of these



